Idleness (Employment)

The traditional view of post war employment levels is that all governments between 1945 until the 1970’s were committed to a policy of full employment, which means that everyone who wants a job can get one. In 1944 a white paper seemed to accept the need to aim for ‘a high and stable level of employment’, and the Labour manifesto of 1945 made its policy clear while at the same time raising doubts about the commitment of the other parties in achieving the goal of full employment. 
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All parties pay lip service to the idea of jobs for all. Where agreement ceases is in the degree of control of private industry that is necessary to achieve the desired end. Our opponents say ‘Full employment. Yes! If we can get it without interfering too much with private industry.’ We say ’Full employment in any case, and if we need to keep a firm public hand on industry in order to get jobs for all, very well. No more dole queues, in order to let the Bosses of Big Business remain kings in their own castles.’ The price of so-called ‘economic freedom’ for the few is too high if it is bought at the cost of idleness and misery for millions. There must be no depressed areas in the New Britain.

Beveridge had reckoned in his report that employment could not be got lower than 3% and when the Labour government began in 1945 there was a private expectation that the unemployment levels would be at about 8%. That was still a high number of people out of work but to the governments surprise unemployment levels tumbled to ‘full employment’ levels of about 2.5%. 
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In contrast to the 1930’s, the ideas of the economist John Maynard Kenyes, which suggested a managed economy and increased government spending without the need to balance the budget, were adopted. This suggested that the aim of the economy was less to make profit than to provide employment for the people. Government would provide work for people and as they were employed rather than being paid dole money this would benefit the country. Also, as these people had more cash to spend they would buy more consumer goods. This in turn would require more workers in factories to make these goods so a multiplier effect would be generated. However as the unit costs of producing these goods became more expensive people started to buy foreign goods and in time this created a balance of payments problem.
One answer to the problem of control of the economy was nationalisation, which had its roots in Labour’s socialist beliefs and was adopted as party policy after the First World War. In theory, nationalisation meant that the government would take over major industries and run them for the benefit of the country rather than the private owners. The government would [image: image3.png]


use profits rather than filling the pockets of private owners and in this way Labour believed they could control and manage the economy more effectively and maintain full employment. The 1945 – 1951 Labour government is associated not only with the welfare state but also with the nationalisation of the ‘high plateau’ of basic industries. In 1946, The Bank of England was nationalised. The coal industry and civil aviation followed in 1947. In 1948, public transport, including the railway network, was nationalised as well as the electric and gas industries. When iron and steel were taken into public control in 1949, the Conservatives, who denationalised the industry in 1953, vigorously opposed it.

In the end, nationalisation was to prove an electoral liability to the Labour party. Other than the coal industry, it did not much improve wages and working conditions in the industries involved; nor did it much improve the service to the public. It did not involve ‘workers control’ or ‘industrial democracy’. Much of Labour’s nationalisation survived to the 1980’s but there was little enthusiasm for carrying it further. The trouble was that nationalisation was applied on the whole to industries, which were unprofitable, and out of date or which required large injections of capital.  

Hugh Dalton, the first post war Labour chancellor claimed that full employment was ‘the greatest revolution brought about by the Labour government’.  However, revisionist historians now take a different view of Labour’s policy and wonder just how responsible the government was for maintaining the goal of ‘jobs for all’. What caused this? Quite simply, the boom in private investment and building after 1945 was a main reason together with Marshall Aid from America. The need to recover and rebuild after the war soaked up workers and Labour took the credit.
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The post war economy was not without its difficulties. Between 1945 and 1951, Britain experienced bread and potato rationing, fuel shortages during the winter of 1947, a 30% devaluation of the pound, which made exports cheaper and imports dearer, inflation and Balance of Payments problems. Perhaps it is to the credit of the Labour government that they completed the Welfare State structure, and maintained full employment under the shadow of such serious economic problems.
In conclusion, Labour probably did not have to do anything to solve the unemployment problem, but what they did built up problems for the future. 
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